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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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40 -

39 A

38

37 A

—— MW

5%5 5é0
m=670,n FV0=0

T
550

—— MW

6%5 GéO
m=790,n FV0=0

—— MW

g
g

7é5 860
m=910,n FV0=0

790

-o— MW

910 915 920

m=580, FV0=0

44 -

43 -

42

41

40 -

39 A

38 -

—— MW

T T
580 585 590

m=725,m FV0=0

48 -

46 -

44 -

42 -

—0— MW

40 -
725 730 735
m=845,m FV0=0
481 —o— MW
46
44 -
42
845 850 855
m=965,m FV0=0

48

46

44 -

—— MW

965 970 975

48.

47.

47.

46.

46.

45.

48.

47.

47.

46.

46.

49.

49.

48.

48.

47.

47.

m=625, FV0=0

44 -

43 -

42

41 -

40 -

39 A

—— MW

650 655
m=730,m FV0=0

—— MW

755 7AO
m=850,n FV0=0

—o— MW

855 860
m=970,n FV0=0
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- MW

970 975 980




hour
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:30

:30

:20

:20

100




P3-12

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

09:30 288 150.0 2.888 |Z=| {Ri%e09:30 Bz (KREAEHE)
10:30 288 150.0 2.888 |Z=| {Ri&e10:30 Bz (KEAEHSE)
11:30 288 150.0 2.888 FA| {Ri&e@11:30 Bz (RAEEE)
12:30 288 150.0 2. 888 FE| 1BRi%e12:30 Bzh (kAERSE)
14:20 288 150.0 2.888 FA| {Ri&e14:20 Bz CGRBEEEE)
16:20 288 150.0 2.888 FH| 1Ri%@16:20 B3h (KRAERESE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEIEARTF (187.0 :

ZRIALBRERE153.0 ml.

153.0), AIEEHT—@E XA HS

large discrepency for begining water status (288:45.0), set to 288 ml.
BEEIRECE (2007. 0 vs 4153.0) T 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=60 (2025-06—01)

190 VI, VO*¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1200
100 + 935
672 750 {76907
50 - 40

Warning: lcol [FVI',| "FVO’'] missing

- 1500

- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

.0
1
91 Byinit!eD62 01:50: ET=1742 Fg=1950.0 Ro=418.0

- 3000
7
- 2000

- 1000

= 8000

300 1~ ByEt @D60 19:06: ET=800 Fg=765. 0 Ro=nan

200 -
—=ff—ongc
100 - ® ®

r
Y VT  — — 2 P e E—

- 2000

- 1000

4081 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

= 8000

M| BB [K[dm| T | F | T | ZT =% | H | H | H [ [ [BA[BH]|B|B|MBHI|ZE|EE|FE

1
300 - ByWoFy!@D62 01:50: ET=707 Fg=900.0 Ro=99.0

200
100 A

|
|
: T N N O o R
1
p— o—i0— 0 & 1l-___.

- 2000

- 1000

9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.6

0.4+

0.2~

0.0
600 -

—_—
[ ] | _obs

400 4 —@— PPFD obs

—— RH
60 - [ ] RH_ObS
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

30.

29.

29.

29.

29.

29.

—o— ME
T T T T T
600 700 800 900 1000
m=855,m FV0=0
0 —e— ME
8 -
6 -
4 -
2 -
0 -
T T T
855 860 865
m=625,m FV0=0
49
—— MW
48
47
46
625 630 635

29.

28.

28.

27.

30.

29.

29.

29.

29.

m=580, FV0=0

——

M_E

580

5é5 560
m=950,n FV0=0

——

M_E

950

9%5 9é0
m=755,n FV0=0

51

50

49 -

48 -

47 -

——

M_W

755

760 765

m=625, FV0=0
29. 8 - M_E
29.6
29. 4 -
29. 2
T T T
625 630 635

T T T
700 800 900

T
600

1000
m=859,m FV0=0
—— MW
50 -
49 -
48 -
47 -
46 T T T
855 860 865

m=753, FV0=0

29. 8 A

29.6

29. 4 -

29. 2 -

29.0 -

28. 8 A
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M_E

755

7é0 7é5
m=580,n FV0=0
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47 -

46 -

45 -
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m=950,n FV0=0
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hour

100

5:05 -
80
6:35
7:35 - 60
9:10 10
10:35
20
12:15
-0




P3-12

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS SRR

06:35 283 150.0 2. 888 FB| {RRi&@06:35 B3I (FRAFERESE)
07:35 283 150.0 2. 888 FA| {Ri&e07:35 Bzl (kAEEEE)
09:10 283 150.0 2.888 FH| {Ri%@09:10 Bz CGRAMERSE)
10:35 283 150.0 2. 888 FB| {Ri&@10:35 B3 (FAERESE)
12:15 283 150.0 2.888 FH| 1Ri%@12:15 Bzh (GREBERRSE)
23t 1415.0 (5%) 750.0 3ESHKEC: 2080.0, PH: 5.8

TERRHER 2 STEEART (187.0 :

ZRIALBRIERE153.0 ml.

HEEHECE (2087.0 vs 4613.0) 15

153.0), AlEEHT—@ % XA HS




P3-12_0, Day=59 (2025-05-31)

LR S e it T il
VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1800 - 2000

100 - 1490

284 1200 218

- 1000

50 1 20 40 86

Warning: lcol [FVI',| "FVO’'] missing

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

1
300 Bylnit!@D62 01:50: ET=1617 Fg=1950.0 Ro=378.0

- 2000
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® o e ©
o—eo—o—eo [ 1000
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3004 P [ B [ B8 [ BA | BA [ BA | BA | BA | BA | BA | BA | BA | BA | A/l | B [ B [AW[A@W[Z=[ B [ BB (2=

]
ByWon: @D62 01:50: ET=686 Fg=750.0 Ro=98.0 - 2000
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100 -

ET (ml/hr/plant)
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) o——i0—0—0—0—

I e e — I\/ — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FA [A A FA FA BH A FH FH BH [A FH BH | X/ |/vm |/ | FA BH |v@m|/)@m|&B=| FA GHEES

—_— 4
[ ] | _obs
PPFD_obs

25.0 A
o T obs
o

22.5 - To_obs

20.0 -

17.5 4

15.0 A

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=460, FV0=0 m=525, FV0=0

30 —e— ME —e— ME 2947 _o- M_E
i 28.8 -
27.5
99 - 28.6 - 29.2 -
27.01 28.4 1
28 - 29.0 -
28.2 -
26.5 -
27 A 28.0 28.8 -
27.8 1
—o— 26.0 -
26 M_E 28. 6 -
T T T T T T T T T T T T T T
400 600 800 1000 420 425 430 460 465 470 526 528 530 532
m=580,m FV0=0 m=640,m FV0=0 m=700,m FVO=0 m=845,m FV0=0
—o— ME —— ME —o— wmp | 3007 —e— ME
6 - 29.8 - 29. 8 -
29.8 -
4_ 296_ 296_ 296_
29. 4 - 29. 4 - 29. 4 -
.21
29.2 -
29.2 - 29.2 -
-0 29.0 1
29.0 - 29.0 -
T T T T T T T T T T T T
580 585 590 640 645 650 700 705 710 845 850 855
m=975,m FV0=0 m m=420,m FV0=0 m=460,m FV0=0
45 -
. —o— ME 504 —@— MW —o— MW 48 1 —o— MW
' 44 -
o 48 - 47 -
a 43 -
46 - 46 1
.61 42 -
44 - 45 -
4 41 -
42 - 44 -
.21 40 -
40 43
975 980 985 400 600 800 1000 420 425 430 460 465 470
m=525,m FV0=0 m=580,m FV0=0 m=640,m FV0=0 m=700,m FV0=0
50 -
494 —o— MW 49 —— MW 48 - —— MW
49 -
48 1 48 47
48 -
47 - 1
47 16
47 -
46 1 46 -
45 -
—-&— MW 46 -
45 L T T T T 45 L T T T T T T T T T
526 528 530 532 580 585 590 640 645 650 700 705 710

m m m m



m=845, FV0=0

—— MW
50
49 -
48 -
47 -
T T T
845 850 855

m=975, FV0=0
—— MW

50 -
49 -
48
47 -
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T T T

975 980 985
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P3-12

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

06:45 283 150.0 2.888 FH| 1BRi%@06:45 B3h (KABERESE)
07:45 283 150.0 2.888 FE| 1BRi%@07:45 B (kHBERSE)
08:45 283 150.0 2. 888 FE| 1BRi%@08:45 Bz (kB{EREE)
10:15 283 150.0 2.888 FH| 1Ri%@10:15 Bzh (REBERSE)
11:20 283 150.0 2.888 FA| {Ri&e11:20 Bz (RAEEE)
12:10 283 150.0 2. 888 FE| 1Ri%e12:10 Bz (kBERSE)
13:00 283 150.0 2.888 FH| 1Bi&@13:00 B3h (RAERSE)
13:50 283 150.0 2.888 FH| 1Ri%@13:50 B3h (KAERRSE)
15:20 283 150.0 2.888 FH| 1BRi%@15:20 B3 (kAERSE)
17:15 283 150.0 2.888 FA| 1Bige17:15 Bzh (RAEREE)
21t 2830.0 (10)%) 1500. 0 333 KEC: 2080.0, PH: 5.7

MEREHLER 2 5 MEIELRT (184.0
ZRIALBRERE153.0 ml.

153.0), AIEEHT—@E XA HS

large discrepency for begining water status (297:72.0), set to 297 ml.
BE[ERECE (2220.0 vs 4760.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=58 (2025-05-30)

150 A

100 A

50

zgdovﬁﬁﬁRv,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

2208
1800 836

233

594

80 20
Warning: lcol [FVI',| "FVO’'] missing

- 2000

T
—_
o
o
o

- 3000

FRV (ml d-1)

0.6 -
0.4 -
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 -
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 t
0.6 -
0.4 -
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 - 4000
400 4By Init! @62 01:50: ET=2160 Fg=2700.0 Ro=590.0 o
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200 - | > - 2000 £
| —
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100 4 : _— -1000§
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sn|lg=z| B | B | B | B | BB | B | B B 5 5 5 B E | B 5 B 5 5 5 5 5 o~
1 - 3000 €
300 1 ByEt @D58 16:06: ET=1534 Fg=1800. 0 Ro=nan : %_
~N
] i >
200 - —e—eo—o—o—eo—9—9o |[VZ
'—
100 - : | - 1000 £
[&]
p— o —6—6—0—© T — I
S ———= === = P —— 1 2000
200 4.0 1 2 3 4 5 6 7 8 9 [ 10 11 |12 13 [ 14 ] 15 ] 16 | 17 [ 18 [ 19 ] 20 [ 21 | 22 [ 23
%n| 25|25 H [H [A A FA FA [A A FA FA [A A FA 3] [A A EEZSEZSEZ3 N o~
1 - 3000 €
300 - ByWon: @D62 01:50- ET=1233 Fg=1500.0 Ro=203.0 %_
~N
200 - : - 2000 £
100 - i /‘/ - 1000 ‘£
[&]
' . [
1_0--1.1.21 :74.’/ I I — I— 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 | 13 | 14 [ 15 [ 16 [ 17 [ 18 [ 19 [ 20 | 21 | 22 [ 23
0.8 4 %n| 25|25 H [H [A A FA FA [A A FA FA [A A FA 3] [A A EEZSEZSEZ3 N
0.6 -
0.4 -
0.2 A
0.0
—_— 4

80 -

60 -

40 -

o | _obs
—@— PPFD obs

—— RH
o RH_obs
RHo_obs

m ® VP




m=420, FV0=0 m=460, FV0=0 m=530, FV0=0

2851 o wE 29. 4 o— NE o NE
29. 4
29.2
28.0 99, 7
29.0
97 5 29.0
28.8 08, 8 4
27.0
28.6 1 28.6 -
T T T T T T T T T T T T T
400 600 800 1000 420 425 430 460 465 470 530 535 540
m=595,m FV0=0 m=645,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
- ME —— ME 30.07 o nE 30.21 o
29.6 29.8
29.8 30.0
29. 4 29.6
29.6 29.8
29.2 29. 4
29. 4 29.6
29.0 29.2
29.2 29. 4
28.8 29.0
29.0 29.2
28.6 28.8
T T T T T T T T T T T T
595 600 605 645 650 655 690 695 700 725 730 735
m=760,m FV0=0 m=7995,m FV0=0 m=835,m FV0=0 m=885,m FV0=0
—o— ME 30471 o ME 3047 o wmE —o— ME
30. 2 30. 4
30. 2 30. 2 1
30.0 30. 2
30.0 30.0 1
29.8 30.0
29,6 29.8 29.8 99, g
29 4 - 29.6 29. 6 29.6
29.2 29. 4 29. 4 29. 4
760 765 770 795 800 805 835 840 845 885 890 895
m=955,m FV0=0 m m=420,m FV0=0 m=460,m FV0=0
30.50 7 —— ME —— MW 49 - —— MW
45 -
30. 25 -
44 - 48 1
30. 00 -
29.75 4 43 7 47 1
29.50 42 1 46 -
29. 25 - 41
T T T T T T T T T T 45 L T T T
955 960 965 400 600 800 1000 420 425 430 460 465 470



m=530, FV0=0

48 A
—— MW
47 -
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45 -
44 -
T T T
530 535 540
m=725,m FV0=0
—— MW
46 -
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43
T T T
725 730 735
m=885,m FV0=0
—— MW
47 -
46
45 -
44 -
885 890 895

m=595, FV0=0
48 —— MW
47 -
46
45
44 L T T T
595 600 605
m=760,m FV0=0
—— MW
46
45
44 -
43
T T T
760 765 770
m=955,m FV0=0
—— MW
47
46
45
44 -
955 960 965

m=645, FV0=0
47 - —— mu
46
45
44
T T T
645 650 655
m=795,m FV0=0
—— MW
46
45
44
43 +§ .
795 800 805

m=690, FV0=0
—— MW
46
45 -
44 -
43
T T T
690 695 700
m=835,m FV0=0
—— MW
47 -
46 -
45 4
44
T T T
835 840 845




